H & 0l & AHS B Ml A

20243 = 204 LBHSIH M|
SN BHAL
. NSt P L(SE/HDIZ)
el 2F0lst EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SHEAIE A 19,910,760 18,310,149 1,600,611
= 1,220,000
= 651,600
& 901,780
Al 17,137,380
Hs SFATH(&E/HIIS) 15,497,625 14,258,722 1,238,903
= 1,220,000
= 651,600
& 901,780
Al 12,724,245
0|3t 6,051,592 6,000,497 51,09
= 18,000
= 42,300
Al 5,991,292
FHASH| 22l 466,500 1,017,500 A551,000
201 LBt AH| 316,500 347,500 A31,000
01 AtR2elt] 12,000 15,000 A3,000
oget=ZH| 12,000,000 12,000
02 S=294| 304,500 332,500 A28,000
03223 % MAl 8,000,000& 8,000
OAIEEH| S| 4,000,000& 4,000
OF X HMEX| FEl
67,500,000 67,500
Oxrz 7=l 225,000,000& 225,000
401 AlEBIZ20HY| 10,000 10,000
01 Al&HI 10,000 10,000
OLBOIE 22+HT £
10,000,000& 10,000
405 RtaHE S| 140,000 670,000 530,000
01 ML SEFHSHI 140,000 670,000 530,000
O LI 2L 140,000,000& 140,000
MDD S F& 5,254,392 4,642,237 612,155
201 LB-2AY| 62,580 65,000 2,420
01 AtR2telt] 38,180 34,500 3,680
oge=Zh| 7,200,000& 7,200
O=tl 1,600,000& 1,600
O MRS MYDl=H & Xtz
3,500,000& 3,500
OdamHI 2 =28 (I 29| & &
A === 3,000,000& 3,000
OH==M LAY A5t
5,600,000& 5,600
OHAEX=HE 2L 4,000,000& 4,000
OHg&s=NHE 2 4,000,000 4,000




FA EEAEA
NH: Y SAXMH(BA/HIIL)
ohel: 2Z0I3t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oHgas =54 640,000 22 1,280
OZTRSS BUHAIAEY SX244]
4,000,000 4,000
OUEHDIZ AIAMAE SXI2==H|
4,000,000 4,000
2 S5=24g4l 24,400 30,500 26,100
0382= £ HA 6,000,000& 6,000
Oxtgdsr S A= 16,000,000 16,000
OZENSE 1 |FAE=H|
2,400,000 2,400
202 04| 5,400 6,000 A600
01 =LHOLI 5,400 6,000 2600
OZ2E&0H 5,400,000 5,400
203 HR=H] 3,000 3,000
03 A=A 2= 3,000 3,000
oXgD| ZeltiEg 88 9% =4
2,000,000 2,000
OdEHIIZ HMelAld &5 g =T
1,000,000& 1,000
206 M=H| 521,500 369,000 152,500
01 MHZH| 521,500 369,000 152,500
oM SEH S5 M
290,000,000 290,000
OHJISZEN M= 196,000,000& 196,000
AEMYI| HRES M
2,500,000& 2,500
oMEsssHe M 23,000,000 23,000
o2=01gyIsE M 10,000,000 10,000
207 ARl 35,000 55,000 220,000
01 A1 35,000 55,000 220,000
OMBHIIS +TSL 18 AJIAE 2
20,000,000 20,000
OdEHIIZ =828 AL EIt B
15,000,000 15,000
307 elztol & 4,626,912 4,144,237 482,675
05 2ItRIE = 4,626,912 4,144,237 482,675
CdgHII= +d28 U =9
4,626,912,000& 4,626,912
M| S| 22 66,700 77,500 10,800
101 @1A4H| 55,000 45,000 10,000
04 JIZtN2Z2 XS+ 55,000 45,000 10,000
OMEHDI2 PHS)| Mol
55,000,000 55,000
201 =3 11,700 12,500 A800
01 At2t2lt] 11,700 12,500 2800




SN BAAYA
A NG BAXLH(BZ/HOIS)
el 2F0lst EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ogt+==H| 8,000,000& 8,000
(CF=E 1,000,000& 1,000
oMl SEIE &8s SIS
1,200,000& 1,200
OEZ dx dEHIIZ =HLd g8 &=
2t 1,500,000 1,500
I FH 2 57,000 54,400 2,600
201 Ler23| 57,000 54,400 2,600
01 At2teltl 51,400 47,400 4,000
Odgt+==H| 9,000,000& 9,000
ozl 2,400,002 2,400
OoF U HASE Py
5,000,000& 5,000
OESFA L=y 30,000,000& 30,000
OBABLE FBHEI} B
5,000,000 5,000
02 s3=gHl 5,600 7,000 21,400
osE2= & HA 3,200,000& 3,200
(CJul=d:] 2,400,000 2,400
SEHHE =HE2d= 117,000 120,000 23,000
= 18,000
[ 18,000
Al 81,000
301 LELE NS 117,000 120,000 A3,000
= 18,000
s 18,000
Al 81,000
14 0Bt 2as 117,000 120,000 23,000
SEHHY 41243
117,000,000 117,000
= 18,000
=S 18,000
Al 81,000
MEHI|2 2cliiE R0 AMY 41,000 38,860 2,140
< 12,300
Al 28,700
101 @124H| 41,000 38,860 2,140
= 12,300
Al 28,700
MU IIRINZZENSES 41,000 38,860 2,140
OdEZHII=Z =CcIE =01 At
41,000,000 41,000
S 12,300
Al 28,700




2A:

I ﬂHZ.S._ XL (8Z/HOIS)
el 2F0lst EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
YA EsHII= =HXCl A 40,000 40,000 0
= 12,000
Al 28,000
201 er2 3| 40,000 40,000 0
= 12,000
Al 28,000
01 AtR2t2|HI 40,000 40,000 0
OgsHll= =1 & Xcl
40,000,000 40,000
== 12,000
Al 28,000
OlO|AZH THALS At 9,000 10,000 21,000
307 lztol & 9,000 0 9,000
02 2B YA HE L 9,000 0 9,000
OOHOI AT THAFZ At 9,000,000& 9,000
AAE 2] 7,837,633 6,843,545 994,088
= 992,000
S 664,000
Al 6,181,633
OHEAIE 2l 1,099,200 900, 100 199,100
201 er2&| 639,200 688,600 249,400
01 At2teltl 40,200 33,600 6,600
OUALHZ (4T L o4F)
5,000,000& x4= 7| 20,000
oO2ga2R2E 7 1,600,000~ 128 19,200
oYxz 250,000 *4=2 7| 1,000
2 352484l 539,000 655,000 /56,000
OMEmHIIE H=2E 3 (04
240,000,000& 240,000
OAMSAMUNEE HEHDIS /XL
280,000,000 280,000
OA&EHIs X 19,000,000& #4221 76,000
o=Zg= 250,000 122 3,000
206 MH=Hl 18,000 18,000
01 MZH| 18,000 18,000
Olgd 25z & gAAF 7
1,500,0002 * 12& 18,000
301 2N = 165,000 170,000 /5,000
14 0Bt 2as 165,000 170,000 25,000
OuMotS F2UXNH 2o
5,000,000 =33 CH 165,000
307 lztol & 23,000 23,500 A500
0192 & 3=l 23,000 23,500 A500




SN BAAYA
A NG BAXLH(BZ/HOIS)
Chel: HAAIE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OaMit==2 ABHN
500, 0002462 23,000
401 Al&2HIZ S H| 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OHELHRIT AESANL B4
30,000,000& 30,000
405 KHaHE SH 224,000 0 224,000
01 AL =S F=H 224,000 0 224,000
olgd =58 =2 uH 2
224,000,000 *1CH 224,000
AZPAIE 2he| 2,112,309 3,903,960 21,791,651
201 et23| 311,000 205,000 106,000
01 At22te|Hl 127,000 0 127,000
OAZAIE J|=XEHIE
127,000,000 12 127,000
02 s3=gHl 184,000 205,000 /21,000
OA2rd HIE M 2Etxtg FAI|
1,000,000& *4= 7| 4,000
OMEHIIZ MEFGS(A2)
180,000,000 *14] 180,000
207 ARl 53,221 22,000 31,221
01 g S| 53,221 22,000 31,221
OIS ALE SEEFHIH EA(MEY)
53,221,000 53,221
307 212+01& 1,748,088 3,576,960 1,828,872
05 2ItRIE = 1,748,088 3,576,960 1,828,872
OLUUEINEY 2=
1,250,000& «12& 15,000
OUZIEIAIY dEHII= ARl
1,733,088,000& 1,733,088
SHEFHIIZ XAl 22 810,726 757,530 53,196
201 fer=3| 147,500 150,000 2,500
01 AtR2t2|HI 3,500 0 3,500
OFHIIEA =2 3,500,000& %12 3,500
02 S5=24g4l 144,000 150,000 26,000
OsSAlEFHII= 28 fIEXcl
24,000,000 24,000
OSA=FHIIZ MelAE &IRes
10,000,0002 x 12& 120,000
308 AtXIEMSOIE 663,226 597,530 65,696
13 S [2SOHe & EAS A 663,226 597,530 65,696
OSASFHIIZ XMelAld 2e|tidt]
663,226,000 663,226
SHUHA SsSAIE 2l 8,000 10,000 22,000
201 er23 | 8,000 10,000 22,000




SN BAAYA
A NG BAXLH(BZ/HOIS)
Chel: HAAIE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AfR 22l 4,000 5,000 21,000
OHZTINE SI4L2E 79
800,000& 52 4,000
02 S3=gHl 4,000 5,000 A1,000
OHEZ=2 AIE&8I=Abl
2,000,000& *23] 4,000
HESLHEAL 2l 601,398 578,955 22,443
101 e124d| 438,098 347,055 91,043
M ORINZZ2NSE S 438,098 347,055 91,043
ONEES HdEAE 2 438,098
o2y 276,080,000 276,080
oFXte=g 57,425,000& 57,425
ocWXteE 12,148,000& 12,148
oAZ2tRZ2RE 16,565,000 16,565
cAUEEE 73,480,000 73,480
oZ2Z2At L=l S 2,400,000& 2,400
201 Zet=3h] 109,300 101,900 7,400
01 AtR2te|HI 28,900 16,400 12,500
oO2gAR2E 7Y 14,000,000& 14,000
ONEH HASE 7Y 3,000,002 3,000
OHEE ZBR =% 7Y
6,400,000& 6,400
oNEE Zag AT 7Y
2,500,002 2,500
OFIIHEBE HHS+R
2,000,000 2,000
ogxz 1,000,000& 1,000
2 s5=34l 80,400 85,500 /5,100
0332 € AMEZHIRAYI
5,000,0002 12& 60,000
ONEESHEY SaEEF FIEX I
20,400,000 20,400
405 AHAHE S 54,000 100,000 246,000
01 AL =S F=H 54,000 100,000 246,000
oNgsdEs 28 XA WA 2
54,000,000 1CH 54,000
NSAMINSE A (2-3EH) 3,206,000 667,000 2,539,000
= 992,000
= 664,000
Al 1,550,000
401 Al HIZ 2018 3,206,000 667,000 2,539,000
= 992,000
[ 664,000
Al 1,550,000




SN BAAYA
A NG BAXLH(BZ/HOIS)
Chel: HAAIE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 3,201,000 662,000 2,539,000
OANSAMINSE AL (2-3EHHI)
3,201,000,000& 3,201,000
= 990,500
< 663,000
Al 1,547,500
03 Al 2CHYI 5,000 5,000 0
OMSIIMNE SHTAR (2-384H)
5,000,000& 5,000
= 1,500
S 1,000
Al 2,500
HIIZ S 1,608,400 1,414,680 193,720
= 210,000
= 651,600
=S 195,480
Al 551,320
ot & ot A 300,000 200,000 100,000
= 210,000
Al 90,000
101 @124H| 220,000 150,000 70,000
= 154,000
Al 66,000
M ORINZZENSE S 220,000 150,000 70,000
Odta ot FR&AdI] Xl
220,000,000 220,000
= 154,000
Al 66,000
201 fer=3| 79,000 49,000 30,000
= 556,300
Al 23,700
01 AtR2t2lt] 3,000 2,000 1,000
Osta ot FR24I] Xl
3,000,000& 3,000
= 2,100
Al 900
02 S3=gHl 76,000 47,000 29,000
Ootd ot FRADI| Mel
76,000,000 76,000
= 53,200
Al 22,800
202 04| 1,000 1,000 0
= 700
Al 300




SN BAAYA
A NG BAXLH(BZ/HOIS)
ol HolE HEEt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 1,000 1,000 0
Oodtd ot HatAtd & 0]
1,000,000& 1,000
= 700
Al 300
HDI=SXHE 2t 5,200 6,000 A800
201 et 3| 5,200 6,000 A800
01 AtR2tc|Hl 2,600 3,000 A400
oget=ZH] 1,600,000& 1,600
OgXIHIIZ =H &Hl Xz
1,000,000 1,000
2 s5=34l 2,600 3,000 2400
OHJI=Xel =Xt U=l
1,000,000& 1,000
OHPI=Xlel HEAE ==
1,600,000 1,600
SdOIEXMCIXIA 1,303,200 1,208,680 94,520
= 651,600
== 195,480
Al 456,120
402 2I2E X201 & 1,303,200 1,208,680 94,520
= 651,600
= 195,480
Al 456,120
03 2IZ+2AEAIHHI 1,303,200 1,208,680 94,520
O=% &dI0IE E 827,200,000 827,200
[ 413,600
= 124,080
Al 289,520
OH|=8 =20lE EA 162,000,000 162,000
[ 81,000
= 24,300
Al 56,700
OF% XS 314,000,000 314,000
[ 157,000
= 47,100
Al 109,900
Y2 AHI (BB A A) (DIEHIIEH 4,413,135 4,051,427 361,708
el 2| 4,366,295 3,992,467 373,828
el 24| 4,366,295 3,992,467 373,828
101 @124H| 3,656,762 3,645,324 11,438
01 &= 62,832 61,351 1,481
ozxu=2e=g 62,832
=) 12,5313 x4 x30Al 2+ 123 18,045




2A:

ERAAL A
A HYRIZHI(BIMZ ) (OIE/IIE
s lIEE2ghl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
org 11,3198 x4 x30A1 2H+ 123 16,300
=85 10, 1622 x4 *30A[ 2+ 123 14,634
95 9,620 x4 +30AI 2+ 123 13,853
2 JIEFR 24 3,99 3,9% 0
OXD2R4LH(HAZE)
11,0023 »1&*x30AI 2H= 123 3,994
03 SR (RINAHA) 222+ 3,589,936 3,579,979 9,957
O&332%(4Y) 3,589,936
S 163,330,000& x12& 1,839,960
oJlEgddE
868,470,000& 128 +3.77% 392,896
odIsd 163,330,000 +2& *50% 163,330
SRal= = 60,0003 «12& x54H 38,880
oS+YRrY 90,0003 * 122 54 58,320
oMYA A+H 105,000 * 128 +54LH 68,040
ctEsd 63,504
— B Xt 40,0003 x 122 «54 % %95% 24,624
&5 20,0003 * 12«54 *7(f% 9,072
—HI= 40,0002 « 12 x54 S *115% 29,808
coRRIRINE
135,000 x54H 18 131,220
ogdIRsd 210,000 x54E 10! 113,400
oA2RAZR+E 163,800,000& 163,800
oXMIE et 153,330,000 x5 *50% 383,325
cHESIMHI
153,330,000 * 128 *16.6%+60% 183,261
04 HSRESS 709,533 347,143 362,390
04 R (RIHA)22N BEESRES S 709,533 84,084 625,449
OUEEE JAFHS (AR 4HS0d)
3,230,000,000& 0. %% 29,070
O=8Iz JIARES
3,230,000,000& *4. 5% 145,350
OALEE JIARE=
3,230,000,0002 %3.495% 112,889
OWRLEE J|I2EE2
108,839, 0002 *12.94% 14,084
OLNEEE JARYS (AR NHAS)
3,230,000, 000& *0.85% 27,455
OLHATMES E I 2RES
3,230,000, 0002 +0.95% 30,685
O&lX= 350,000,000 350,000
=8l 46,840 58,960 A12,120
Jl23H] 46,840 58,960 A12,120
201 er=23y| 6,400 8,000 /1,600
01 AtR2t2|HI 6,400 8,000 21,600
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5,000
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6,400
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7,800
2,800
2,800
5,000
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- ESS
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6,400,000&
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01 2L AL
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32,640,000
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40,000& 70

R0

Kr

KJ

oFJ
Rr

5,000,000&
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